THAFEE LEY—N/FUAER

EE ER] B2 EX EZE EEE Fo ERE Zom ZoH E10M
FEH 5/30~6/3 6/13~6/17 6/27~17/1 7/11~1/15 8/1~8/5 8/15~8/19 8/29~9/2 9/12~9/16 10/3~10/7 10/17~10/21
. BE BE R BE BE BE BE BE BE R N
o ) > 2 > B > B 5 ) 5 ) 5 ) > 5 > B 5 B 5 =
e y k=5 . |3z . |3lE|lz|57|. |2|lz|lz|57|. 2 |z (2|lm|z|5|7|.|2|lm|=z|5F|7|.|3|lm|=|5|7|.|3|lm|=z|5|5|.|%|m|=|5]|%].]7% &t
WD % 2| D N - 2| N I B B [ 2| N I B B 2| N BN B B [ A A N I B e N A I N e 2] I N - 2| N I B B [ 2| N I B B [ 2] N
M ,; AEIEESE ,; AV ESE ; AV ESE ; AV ESE ; 2R ESE ,j 2V ESE ,; AV EAE ,; AV EAE ; AV ESE ; 1 h |y
! > 7 i 7 7 i 7 7 5 > 7 . > 7 " > 7 5 > 7 i 7 7 i b 7 5 > 7
§ ERRDOTHEE 9 12 1
3 ITYRAUIH O|FE 14| P21 | P2 14| P24 O[T | P21 | P2 14| P2 T 0
55 ZRHDTHERE 1 0 1
r  |FhATHhE o RIESE: 6/ 30
w8  |2hHET7HATH 0 ~ 0 ~ 0
N DS o ~ | o] ~ / 0
Z DD o ~ A 2
) ERRDOTHEE 0 2 2
N ES ke ol ~ |~/ |~ |~ O|PE 1| P21 | P2 (2T 0
5 ZTRMDITHhERE 0 0 0
pics THATHE 0| ~ 1(F=4 11 3
= aAHRZTHhATH 0| /~ ol 0
»n  [h=55h o ~ 1 ol ~ / 0
Z DD o ~ o ~ 0
ERRDOTHEE 4 2 6
= 2YEALIA O[T | P21 | P2 14| P2 T4 O[T | P21 | P2 14| PETE 0
L |[Eofoi=hER 0 1 1
= |7HhATHE 2[Et =k 3| 12
SHEFNALS ol / ol / 0
NIES5Ah ol ~ 1 ol ~ / 0
Z DD 2|fE 14 0| ~ 2
ERRDLIHEE 1 3 4
N IYRAUIH O[S4 | P21 | P2 14| P24 O[S4 | P21 | P2 14| P2 T4 0
th ZRHMDTHERE 0 0 0
= THATIHE 11fEH 0l ~ 11 5
IAETHALS) o ~ o[ ~ 0
NIES5Ah o ~ 1 ol ~ / 0
Z DD o ~ o] ~ 0
ERRDLIHEE 2 8 0
sh ITVRAUIH 0|14 | P21 | P2 14| P24 O[S4 | P21 | P2 14| P2 T4 0
; DI ThERE 0 0 0
= |ZhAThE 7|BE 2|24 9| 19
SHETNATS ol ol / 0
NIES5Ah ol ~ 1 ol ~ / 0
Z DD o ~ o ~ 0
ERRDTHEE 0 1 1
v I2YRAIH oL~ |\~ |~ |~ O|FE 4| P2t | P21 | P2 1E 0
# [FotDT<hER 0 0 0
H ThATHE 11f2H% o ~ 11 2
® A ETHATH o ~ ol ~ 0
NIES5Ah o ~ /1 ol ~ / 0
Z DD o ~ o ~ 0
ERRTTHEE 12 2 4
& 2YRAIH O| P14 | P21 | P2 14| P24 O[T | P21 | P2 14| P2 T4 0
i FRHDITHhER 0 0 0
n | ZRAThE 2|p=tE Al 4] 18
AHITHATA o ~ o] ~ 0
NIES5Ah o ~ /1 ol ~ / 0
Z DD 0| ~ 0| ~ 0
ERROLIHEE 1 0 1
ITYRATIH O|FZ14| P21 | P2 14| P24 ol ~ |~ |~ | ~ 5
it |[FothDLTAERE 0 0 0
n ThATHE 2|14 o ~ 2| 9
aHETHATH o ~ o ~ 0
NIES5Ah o ~ 1 ol ~ / 0
Z DD 6| [ 14 0| ~ 6

/o WRRANEIRTELGN o= REET,
[FDMDITHBERICIE, BEADRKREIZELY ., ERROSOTHFEIERVIAOIAERERETH--BARXREZET,




THAFEE LEY—N/FUAER

EES F 1[0 FE2[0] F3[ F 4[] 5[0 XS] E70 E8[d] E]E] % 10[a]
REH 5/30~6/3 6/13~6/17 6/21~1/1 7/11~7/15 8/1~8/5 8/15~8/19 8/29~9/2 9/12~9/16 10/3~10/7 10/17~10/21
& . ‘ﬁ% _ ER HE HE HE HE R HE HE BHE &
o . ||| 2| |3 |27 |3 ||| 3|z |57|.|3 |27 13|m|2|5|7].|3|e|2|5|7].|(2|e|2|5|7]|.|2|e|z|5|7]|.|2|m|z|5]|%].|2] &t
D558 ol I IR B I - S B IR B I I I R B B A I o B B B A I B B B A I I B B B I I I B o A I I 2AAEA I I 2AAEA I j S|P3
+ 7“ 2 jj U e 7“ 2 jj U e 7\’ 2 jj IJ e 7\* ’Z jJ IJ e 7‘ ’Z jj U + 7“ ’Z jj I) + 7“ 2 jj U + 7“ 2 jj U e 7\’ 2 jj IJ + 7“ ’Z jJ IJ
! 7 7 i 7 7 i 7 7 5 Z 7 ,1 > 7 " > 7 5 7 7 i 7 7 i 7 7 5 Z 7
H* |ErRTI<HE 0 0 0
) ITYRAIH ol ~ |~ |~ |~ ol ~ |~ |~ |~ 0
B [FothiIhEE 0 0 0
58 THATHE 3| 1(F=4 4] 5
B aHETHATH of ~ of ~ 0
N |INIES5h ol ~ / ol ~ / 0
Z D DI =R o ~ 1
2 ERRDUTHE 0 0 0
i ITYRALIH ol ~ |~ |~ |~ ol ~ |~ |~ |~ 0
5 oo <hEE 0 0 0
by | ZAAIZHE 1Bt 0 ~ 1] 17
2 :ﬁ97ﬁ41ﬁ 0| ~ 0| ~ 0
INRESH ol ~ / ol ~ / 0
Z DD 16|f2 1% o ~ 16
ERRDUTHE 0 0 0
%% TBRAIH ol ~ |~ |~ |~ ol ~ |~ |~ | ~ 0
0 FRHMDLIHER 0 0 0
n | ZPATIHE 1[BETE 3L 2| 23
IHETHATH ol ~ o] ~ 0
INRESH ol ~ % ol ~ / 0
Z D DK 8|fEtE 13[4 21
ERRTO T HEE 0 0 0
7\ RYBAIH ol ~ |\~ |~ |~ oL |~ |~ |~ 0
L |20t ThERE 0 0 0
H THATIHE 0| ~ 0| ~ o] 4
% aHETHATH of ~ o ~ 0
o [NTESH ol ~ % ol ~ / 0
Z D DI RIIEES e 4
ERRTO T HEE 0 0 0
J\ RIBALRA oL ~ |\~ |~ |~ ol |\~ | 7|~ 0
¥ TN IHHEE 0 0 0
F THATHE o ~ o ~ o 2
g aHETHATH o ~ o ~ 0
INRESH ol ~ / o] ~ / 0
Z D DI of ~ AIELES 2
ERNRTO T HEE 0 0 0
E-4 2YRZLIA oL ~ |\~ |~ |~ oL |\~ |~ | 7~ 0
5] TN THHEE 0 0 0
i |Z7H14THE o ~ o ~ o 0
W [2H47HhA4TH o ~ o ~ 0
INRESH ol ~ / o] ~ / 0
Z D DI of ~ o] ~ 0
- ERRTO T HE 0 0 0
e 2YRZALIA oL ~ |\~ |~ |~ oL ~ |\~ |~ | 7~ 0
It FOMDOITHEE 0 0 0
") 7?3’(Ij:|¥¥ 0| ~ 1|fEH 1 2
2 AHITHATA o ~ o ~ 0
INRESH ol ~ / o] ~ / 0
Z D DI o] ~ e 1
o |[ERROCUTHE 1 0 1
L ES R = E = o/ |- ||~ 0
= ZRHMDUTHERE 0 0 0
= [ZhA4ThE# EES o ~ 1] 6
= |3HETHATH o] ~ o] ~ 0
= [N\NTHESH o]l ~ / o] ~ / 0
5 Z D DI 3| =% 1P 4 4
ERRDITHEE 30 30 60
ITYRAIH 0 0 0
ZFRHDUIHTER 1 1 2
& FhATHEE 21 15 36| 157
it [aAETHhATH 0 0 0
INRZTSH 0 0 0
Z D DI 39 20 59
BE&3 o 58

/o WRRANEIRTELGN o= REET,
[FDMDITHBERICIE, BEADRKREIZELY ., ERROSOTHFEIERVIAOIAERERETH--BARXREZET,



